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Modern Translation & Mathematical content HEEER  English Translation

[t1] 134751200 D = E O H O PRI O P HIZIE X3RO AZ 1TV . Probl
ZO+ENHOHICHET . 1R3T68EE L e nt, TD L XD roblem

DIEITENL BV, EHOTFHOLHOE ST 8N B, The premises have one side of 120ken,
wes HiiE 9 The moat around the premises is 3ke2 in depth.

oy Lo — 1160 I used soil and stacked some of them 1shaku 3sun gbu 8ri gpy the

e PO +HIO 1 IWDOESE2XET 5, Premises. ,
B O EAEIL 120/ O FE FH 24D T, How long 1s the moat? |
1202 =144004% How long 1s the side pile the soil?

ZAIVICIES 3E D JLT@ i@—*im@ﬁﬁi’
14400 X 3=43200%£F - (D Answer
1R 316538 H 6, 65T (1 1) ZHl-> T, The moat—s2ken
0.21046[E] 3: 725 The sid 11 @ken
= TS AN 2 CHEOTE X 13 e side™
3.21046fE - - - @

KFEITE LV TDEQTES & o +Ho EfE Solving method ,
X2=43200- 3.21046= 13456.01565 The square of 120%°" is 14400,

-~ 1345645 14400°" times 3ken equals 43200tubo,
L -oT This is in right.1shaku 3sun gbu 811 divided by 65 equals 2bv 11

X=1+1/13456=+v1162 0,4shi gso in left.
X> 0K It plus 3ken equals 3ken 2bu 11 4shi gso,
X=116[#] 43200tube divided by 1t equals 13456Py,
L o TCHRE X ) It is the side by extraction of square root.
(120 — 116) x > = 2[r] All Ken minus it divided by 2 1s moat.
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IPRPXE ;IREOMNEDINT Culture of Edo About the outer moat EDO castle . .
- Tl . 3

IRMIE. B A AT=DICHEZ AR > TV, LML, XTHHE—N. BIIEADBLEN
BCIGEDE, ERELT, IKEDELEG STz, FATZAERNE LTORELHFYEONGCGEST
W&, BOILTHTONEDN, EETEREORBO—HE LTERELTWLI D ELTWLS,

Edo castle was surrounding the outer circumference in order to prepare for enemies. However, when the unification
became unified, and it became unnecessary to prepare for enemies, it became necessity of water transport as a canal.
The rule as a canal gradually got lose and land fill was done, but in recent years it is trying to preserve it as part of

Tokyo’s landscape. HE &
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SLETERDES SENHY. THIIBD L£ZEABOEEOAYISE- . BOIEE. "%
SNTLELT, XKE=oT=, SEE]
It 1s still a word, but there was a different R 5/ H D prbls s BodfikE fthe faadth of the &

meaping from the old days, and 1t was quite 55t and one side of the inside square dug
deceived by 1t. around the area of a square.

SHROERE
Future tasks b
REXD—BRECHDIROE > BLOHN. [ChFENOMBEICLEATEET &) Vo Bk W27

FER9G 2 &M FILREETD ketugish
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We could not translate the old Japanese sentence into modern Japanese. #{F: BEREE Author: Yosinori lsomura

It means [This problem can apply it to other problems. A  Nisida Tomomi




